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ic 1: Real Numbers (eqe tion is an identity

T;?sg-lz. Solve the equation. If the equa
solution; state that fact.
21y = 56 +7y 2)7=2-1 3) 360+362=-30—z@;
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8) S(y+2)=6+32y-1) 9)3(x+2)=3x+2+4

5’y,-/o-a,+by-3 3xtle = 3xréb

7) 5(x+1)-3(x+1) =14

Sx+S-3x-3:=1Y

xt+2 =Y Sytio= 3tby -
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10) 14n-11n+15=0 11) -7 - 4(2x - 1) = 21 12) x| +8= 12
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Questions 13-15. Define a variable, write an equation, and solve for each

13) Find three consecutive |
ntegers whose sum is —6 3
6. IxX+ 3T -6k
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X+ 3x :-(‘9
X+ :
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£ ns 16-19. Solve for the indicated variable.

B 17)py = miT for R
)y = ax—b for X T ris y
+o = X Z = 's——x

e R= 7 [';, : -5+
m iven line.
bfiestlons 19-24. Solve the inequality. Graph your solution on the 9
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. Questions 25-27, solve each equation. {x . o ’OJ
25. x| +4=8 26. -2|x| = -
’K':"f 5 IZLII: 14 27. |2x - 6| =8
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X't -
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Question 28-30

» Solve and graph each inequality
28. |5x- 2|>8

' SX-2 2§ or Sx-24 -8 3
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< ,m‘mn, dllhe your variable, write an equation, show how you solve, state the solution.
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